Name: ________________________________________
Grade Level Test Review – Sequences
Review your class work and homework worksheets!

1. Determine whether the sequence given below is arithmetic or geometric. Then find y when n = 5.  
	n
	1
	2
	3
	4
	5

	y
	2
	6
	18
	54
	162


2. Determine whether the sequence given below is arithmetic or geometric. Then find y when n = 5.  
	n
	1
	2
	3
	4
	5

	y
	-4
	3
	10
	17
	24


3. Complete the table below using the given rule. 
	Position
	1
	2
	3
	4
	5
	n

	Term 
	-1
	1
	3
	5
	7
	2n – 3


4. Complete the table below using the given rule.
	Position
	1
	2
	3
	4
	5
	n

	Term 
	7
	11
	15
	19
	23
	4n + 3


5. Which description shows the relationship between a term and n, its position in the sequence? 

	Position
	1
	2
	3
	4
	5
	n

	Term 
	2
	5
	8
	11
	14
	


a. Add 1 to n 
b. Multiply n by 2 
c. Multiply n by 1 and add 3

d. Multiply n by 3 and subtract 1

6. Which sequence follows the rule 
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, in which n represents the position of term in the sequence? 
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c. 3, 6, 9, 12, …

7. Find the output for each input 
	Input
	Rule
	Output

	x
	4x – 3
	y

	2
	4(2) – 3
	5

	3
	4(3) – 3
	9

	4
	4(4) – 3
	13

	5
	4(5) – 3
	17


8. Make a function table and graph the resulting ordered pairs.
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	Input
	Rule
	Output
	Ordered Pair

	x
	2x – 1 
	y
	(x, y)

	-2
	2(-2) – 1
	-5
	(-2, -5)

	0
	2(0) – 1
	-1
	(0, -1)

	1
	2(1) – 1
	1
	(1, 1)

	3
	2(3) – 1
	5
	(3, 5)



9. Janie pays $20 a year to be member of the Books-R-Us club. She can buy books at a discounted rate of $7 each. Complete the function table, where x is the number of books she buys during one year and y is total cost in one year. 

	Input
	Rule
	Output

	x
	20 + 7x
	y

	0
	20 + 7(0)
	20

	5
	20 + 7(5)
	55

	8
	20 + 7(8)
	76

	10
	20 + 7(10)
	90

	15
	20 + 7(15)
	125


10. Yesterday at the grocery store, Marvin bought 3.2 pounds of grapes for $1.15 a pound. How much did Marvin spend on the grapes? 
$3.68
11. At the local high school, the track is 
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 miles long. Marsha ran around the track 
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 times. How far did Marsha run? 
3 miles
12. Evaluate using orders of operation: 
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